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EST I – Literacy Test I 

 

Student’s Name 
_____________________________________ 

National ID 
_____________________________________ 

Test Center: 
_____________________________________ 

 

Duration: 35 minutes 

44 Multiple Choice Questions 

Instructions: 

- Place your answer on the answer sheet. Mark only one answer for each of the 

multiple choice questions. 

- Avoid guessing. Your answers should reflect your overall understanding of the 

subject matter. 
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Directions: Read each passage and answer the questions. First skim through the passage to gain the 

general idea of topic, style, tone, and structure. Then, re-read the passage a second time, closely, and 

answer the questions found next to the passage as you read. Some questions ask you how the passage 

might be changed to improve the expression of ideas. Other questions ask you how the passage might be 

altered to correct errors in grammar, usage, and punctuation. One or more graphics accompany some 

passages. You will be required to consider these graphics as you answer questions about editing the 

passages. 

     There are three types of questions. In the first type, a part of the passage is underlined. The second 

type is based on a certain part of the passage. The third type is based on the entire passage.  

     Read each passage. Then, choose the answer so that it is consistent with the conventions of standard 

written English. One of the answer choices for many questions is “NO CHANGE.” Choosing this answer 

means that you believe the best answer is to make no change in the passage. 

 

Questions 1-11 are based on the following passage 

and supplementary material. 

 

     Banking is not a profession dedicated [1] 

indisputably to entering an endless series of figures in 

ledgers and processing or analysing balance sheets. 

Primarily, banking is a profession that deals with people 

and their problems. [2] Instead, [3] banking is a 

profession not only for those who have a flair for people 

but also for those with a flair for figures.  

 

 

 

 

 

 

 

 

 

 

 

 

1.A. NO CHANGE 

B. both 

C. solely 

D. mutually 

2.A. NO CHANGE 

B. Therefore, 

C. However,  

D. Although 

3.A. NO CHANGE 

B. banking is a profession not only for those 

who have a flair for people, but also for 

those with a flair for figures. 

C. banking is a profession not only for those 

who have a flair for people, but it is also 

for those with a flair for figures. 

D. banking is not only a profession for those 

who have a flair for people but for those 

with a flair for figures. 
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Banking provides a broad spectrum of work to allow [4] 

a primitive banker to switch careers without changing a 

industries. The employment options in banking are 

abundant and various. The major areas of work are the 

servicing of internal customers, domestic customer 

banking, and special functions such as administration, 

[5] personality and computers. All of them need 

employees with sufficient educational background, 

intelligence, clear thinking, human understanding, and 

nerve.  

 

     [6] A bank manager who is responsible for a branch 

of business usually begins his career as a loan officer 

and acquires skills and experience while progressing 

through several jobs. Bank loan officers make initial 

contacts with new customers, [7] accepting their loan 

applications, and assist them on how to fill out loan 

requests.  

 

     [8] (1) An analyst’s duties are to assess each loan 

applicant's financial position and advise the bank's 

management on the loan prospects. (2) A loan workout 

specialist is an experienced and skilled specialist who is 

supposed to investigate each problem loan, inquire into 

the causes of bad loans, and find solutions to recovering 

the bank's funds. (3) A credit analyst and a loan workout 

specialist are professionals determining the business of 

lending. (4) Both a credit analyst and a loan workout 

specialist must have a solid background in accounting, 

financial statement analysis, law, and economics. 

 

 

 

4.A. NO CHANGE 

B. an adult 

C. an incipient 

D. an original 

5.A. NO CHANGE 

B. personnel 

C. personal 

D. persons 

6.A. NO CHANGE 

B. A bank manager who is responsible for a 

branch of business, and usually 

C. A bank manager, who is responsible for a 

branch of business and usually 

D. A bank manager who is responsible for a 

branch of business and usually 

7.A. NO CHANGE 

B. accepts their loan  

C. to accept their loan  

D. accept their loan 

8. Which sentence serves as a topic sentence for 

this paragraph? 

A. Sentence 1 because it describes the duty 

of an analyst in detail.  

B. Sentence 2 because it describes the duty 

of a loan workout specialist and the 

paragraph mostly deals with bank loans.  

C. Sentence 3 because it includes both jobs 

to which the surrounding sentences refer. 

D. Sentence 4 because it includes necessary 

skills for both banking jobs. 

 

 



4 

April 2021 

     Managers of the accounting and operations division 

control and direct one of the leading business areas 

concerned with financial planning through the 

interpretation and use of financial data for one thing. 

They are in charge of processing checks and clearing on 

behalf of their customers. The lowest link of the 

division, a teller, is a bank employee who accepts 

deposits, cashes checks, and performs other banking 

services for the public. [9] Their duties also include 

sorting and filing deposit receipts and withdrawal  

slips. [10] 

     Auditing and control personnel in a bank's 

accounting and audit department are well trained 

specialists. Their proficiency and expertise are 

unquestionable. As professional accountants they have a 

legal right of access to records and accounts.  

Candidates for such senior posts have to acquire a 

variety of managerial experience, and those who show 

outstanding potential are likely to reach senior executive 

level before they are 40. [11] 

 

9.A. NO CHANGE 

B. There  

C. Theirs  

D. They’re 

10. Which sentence best concludes this 

paragraph? 

A. A teller’s primary duty is to find out and 

state the true financial position of the 

bank by examining books and records. 

B. Financial data is handled by managers of 

the accounting and operations division of 

which tellers are the lowest rung on the 

ladder  

C. The accounting and operations division 

has roles of various levels to progress to 

such as becoming a bank teller.  

D. Tellers produce a forecast of future 

performance and provide ways and 

methods of improving bank efficiency. 

11. Which sentence best concludes this 

paragraph? 

A. A career progression does not reflect age 

but rather depends on individual ability 

and previous experience. 

B. Trust department specialists, investment 

specialists, foreign exchange traders, and 

personnel managers exist as part of a 

senior executive team. 

C. Once the basic training has been 

completed, career development becomes 

more challenging for the individual. 

D. Candidates for senior posts must be 

above 40 and show outstanding potential, 

desire, and strong character. 
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Questions 12-22 are based on the following passage. 

 

Why People Troll 

     “Fail at life. Tough luck for you!” Comments like 

this one, found in an article about how women perceive 

themselves, are prevalent today across the internet, 

whether [12] their on social media or a news website. 

Such behavior can range from profanity and name-

calling [13] or personal attacks, or hate speech. A recent 

Pew Internet survey [14] found that four out of 10 

people online have been harassed online, with far more 

having witnessed such behavior. Trolling has become so 

[15] general that several websites have even resorted to 

completely removing comments.  

      [16] People who like to troll are likely to show signs 

of sadism. One reason for this is that the internet has a 

tendency to make people anonymous which motivates 

trolls to treat people online as less than human.    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

12.A. NO CHANGE 

B. there 

C. they’re  

D. theirs 

13.A. NO CHANGE 

B. to 

C. and 

D. both 

14.A. NO CHANGE 

B. finds 

C. founded  

D. finding 

15. Which word best expresses the intended 

meaning? 

A. NO CHANGE 

B. scattered 

C. spread 

D. rampant 

16. At this point, the writer is considering adding 

the following sentence. 

“Trolls are generally perceived as vociferous 

sociopathic individuals.” 

Should the writer make this addition here? 

A. Yes, because the sentence that follows 

support it.   

B. Yes, because it is giving reasons why the 

internet causes trolling behavior. 

C. No, because it is a repetition of the same 

idea in the following sentence.  

D. No, because it is a general statement 

about trolling. 
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Some studies even showed that trolls have predisposing 

personal and biological traits, such as sadism and [17] a 

propensity for seek excessive stimulation.  [18] 

However, one study found that people with no biological 

predisposition can be influenced to troll under the right 

circumstances in an online community.  By analyzing 16 

million comments made on a news website and 

conducting an online controlled experiment, [19] two 

key factors that can lead ordinary people to troll were 

identified.  

     Six hundred sixty-seven participants were recruited 

through an online crowdsourcing platform and asked to 

first take a quiz, then read an article and engage in 

discussion.  Every participant saw the same article, but 

some were given a discussion that had started with 

comments by trolls, whereas others saw neutral 

comments instead.  Here, trolling was defined using 

standard community categories—for example, name-

calling, profanity, racism, or harassment.  

     The first factor that seems to influence trolling is a 

person’s mood. In the experiment, people [20] had been 

put into negative moods were much more likely to start 

trolling. It was also discovered that trolling ebbs and 

flows with the time of day and day of the week, in sync 

with natural human mood patterns. [21]      

 

 

 

 

 

 

 

 

17.A. NO CHANGE 

B. a proclivity for seeking  

C. a liking to seek 

D. an inclination in seeking  

18.A. NO CHANGE 

B. Moreover,  

C. Similarly, 

D. Consequently,  

19.A. NO CHANGE 

B. two key factors, that can lead ordinary 

people to troll, were identified.  

C. two key factors that can lead ordinary 

people to troll were identified. 

D. two key factors that can lead ordinary 

people to troll, were identified..  

20.A. NO CHANGE 

B. were put 

C. have been put 

D. put 

21. The author is thinking of adding a sentence at 

this point for additional support.  Which 

sentence works best? 

A. NO CHANGE 

B. Trolling is most frequent late at night, and 

least frequent in the morning. 

C. Trolling also can differ in severity, from 

swearing to targeted bullying, which 

necessitates different responses. 

D. Trolling can end up becoming the norm in 

communities if left unchecked. 
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     Moreover, a negative mood appeared to persist 

beyond the events that brought about those feelings. 

Suppose that a person participates in a discussion where 

other people wrote troll comments. If that person goes 

on to participate in an unrelated discussion, he or she is 

more likely to troll in that discussion too. 

     The second factor is the context of a discussion. If a 

discussion begins with a troll comment, then it is twice 

as likely to be trolled by other participants later on, [22] 

compared to a discussion that does not start with a troll 

comment. In fact, these troll comments can add up. The 

more troll comments in a discussion, the more likely that 

future participants will also troll the discussion. 

Altogether, these results show how the initial comments 

in a discussion set a strong, lasting precedent for later 

trolling.  

 

 

 

 

 

 

 

 

 

 

 

 

22.A. NO CHANGE 

B. compared to a troll comment. 

C. compared to the context of the discussion. 

D. compared to a discussion that starts with a 

troll comment. 
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Questions 23-33 are based on the following 

passage. 

Invasive Species 

 

     In order to develop predictive theories, invasion 

biologists have made several attempts to explain 

why certain species have been successful in [23] 

establishing locations.  [24] After critically 

reviewing these theories, scientists found only a 

few of them to contain any predictive value.  They 

identified three levels of characteristics: species-

level characteristics, e.g. body size, reproductive 

rate, geographic range, and [25] habitat breadth, 

location-level characteristics, e.g. climate, 

structure and composition of the native habitat, 

and latitude; event-level characteristics, e.g. 

number of individuals released, and date of 

introduction. 

     Event-level characteristics are much more 

important than [26] species and location. By far 

the most important characteristic appears to be the 

number of introductions of a species and the 

number of individuals released. This single factor 

explains much of the variation in the presence of 

non-native species. 

 

23.A. NO CHANGE 

B. established  

C. establishment  

D. establish 

24.A. NO CHANGE 

B. Scientists found only a few theories after 

critically reviewing them for predictive 

value. 

C. Finding a small number of them to be of any 

predictive value, scientists critically 

reviewed a diverse number of these theories.  

D. Scientists have critically reviewed these 

theories and found only a few to have 

predictive value. 

25.A. NO CHANGE 

B. habitat breadth location-level characteristics, 

e.g. climate, structure and composition of the 

native habitat, and latitude; 

C. habitat breadth; location-level 

characteristics, e.g. climate, structure and 

composition of the native habitat, and 

latitude; 

D. habitat breadth: location-level 

characteristics, e.g. climate, structure and 

composition of the native habitat, and 

latitude; 

26.A. NO CHANGE 

B. species and location-level characteristics. 

C. species and location of characteristic. 

D. species-level and location-level.  
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One of the few species-level characteristics that 

appears to have explanatory power is the climate 

and habitat [27] breadth of the species. Another 

relevant characteristic is behavioral flexibility: the 

ability of the species to adapt to new food 

resources or ecological conditions. Generalist, 

widespread species have a better chance of being 

introduced and [28] become established. 

 

 

 

27.A. NO CHANGE 

B. breathe 

C. breathing  

D. breath  

28.A. NO CHANGE 

B. be 

C. became 

D. becoming 

29. Which statement best interprets the graph? 

A. Of the 1170 species which are non-native to 

the Netherlands, land animals, land plants, 

arthropods and fungi represent the largest 

groups, while only small numbers of 

nematodes and aquatic plants are non-native. 

B. Aquatic species, land plants, arthropods and 

fungi represent the largest groups, while only 

small numbers of nematodes and land 

animals are non-native. 

C. Aquatic species represent the largest group, 

while only small numbers of fungi and land 

animals are non-native. 

D. Aquatic species, land plants, arthropods and 

fungi represent the largest groups. 
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     The Netherlands has always had excellent water 

connections to the European hinterland: mainly the 

rivers Rhine and Meuse. These rivers create a 

permanent [30] acceptance of water species, 

occasionally including non-native species. Another 

important pathway for non-native species is 

aquaculture. Lots of water plants and animals are 

imported for use in Dutch aquaria and ponds. In 

addition, fish species are introduced for angling.  

The number of non-native freshwater species [31] 

have increased strongly over the past decades. 

Many macroinvertebrates, fish and water plants 

have been introduced by human activity, mainly 

the trade of plants and fish for use in ponds, the 

release of fish species for angling purposes, the 

construction of the Main-Donau canal, and the 

discharge of ballast water. 

     After the opening of the Rhine-Main Danube 

waterway, the southern corridor became the 

principal corridor for the spread of non-native 

macroinvertebrates to the River Rhine. 

30. Which wording is most consistent with the 

paragraph as a whole? 

A. NO CHANGE 

B. entrance 

C. influx  

D. arrival  

31.A. NO CHANGE 

B. has increased 

C. is increasing 

D. had increased  

32. Which statement best interprets the graph? 

A. For macroinvertebrates the main donor 

areas are North America and the Ponto-

Caspian area. 

B. Important donor areas for fish are North 

America, the Ponto-Caspian area, and Asia. 

C. Most water plants have their origin in North 

and South America. 

D.  Most water plants have their origin in Asia 

and Europe. 
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Up to now, the dispersal of only a few non-native 

species was related to the Southwestern and 

Mediterranean corridors. Another important 

pathway for macroinvertebrates is the import from 

North America. 

     Some non-native species of fish have been 

present in the Netherlands for a long time. [33] 

Macroinvertebrates and water plants are much less 

than non-native fish species which make up 30%. 

After 1990, again a fair amount of non-native fish 

species was introduced, mainly as a result of trade 

in pond fish. 

     As for water plants, the main pathway (75% of 

which are non-native species) is escape from 

gardens, ponds or aquaria. Although most non-

native water plants do not cause any problems, 

some species proliferate.  

 

33. The author wants to replace the underlined 

sentence with one of the following. 

Which sentence works best? 

A. NO CHANGE 

B. The majority of species originate from 

temperate areas, and this is well 

documented.  

C. The construction of the Main-Donau canal 

has caused a major increase in the number 

of non-native macroinvertebrate and fish 

species. 

D. These species are still intentionally being 

released for amateur fishing. 
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Questions 34-44 are based on the following 

passage. 

 

Can Artificial Intelligence Make Art without 

Artists?   

     The question of whether machines can make art 

provokes very different answers from pioneers in 

the field. Harold Cohen refuses to ascribe creativity 

to his art-making robot [34] AARON, while Leonel 

Moura argues that since his “Artbots” generate 

pictures from emergent properties that could not 

have been predicted by their creator, “they have at 

least some degree of creativity.” Although the 

question of whether machines can be artists seems 

to fall squarely on our definition of the latter, a 

solution to this philosophical [35] tenet may 

ironically lie in redirecting the question away from 

the artist and toward the viewer. 

     [36] For 50 years, Harold Cohen collaborated 

with a computer program he dubbed AARON. 

Gradually, he refined its code to produce drawings. 

Later, he created paintings which grabbed his 

interest and that of a large public.  

 

 

 

 

 

 

 

 

34.A. NO CHANGE 

B. AARON. While Leonel Moura argues that 

since his “Artbots” generate pictures from 

emergent properties, 

C. AARON; while Leonel Moura argues that 

since his “Artbots” generate pictures from 

emergent properties, 

D. AARON: while Leonel Moura argues that 

since his “Artbots” generate pictures from 

emergent properties 

35.A. NO CHANGE 

B. elucidation 

C. impasse 

D. headway 

36.A. NO CHANGE 

B. Harold Cohen collaborated with a computer 

program dubbed AARON for 50 years and 

with a refined code to produce drawings and 

paintings which interested him and a large 

public.  

C. During his 50-year collaboration with a 

computer program he dubbed AARON, 

Harold Cohen gradually refined its code to 

produce drawings, and later paintings, of 

increasing interest to Cohen and to a large 

public. 

D. For 50 years, and with the help of a computer 

program dubbed AARON, Harold Cohen 

produced drawings and paintings which he 

produced using refined programming code 

that interested him and a large public.  
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Over the years, Cohen also redefined [37] its own 

role, which shifted from a programmer, who sets 

rules for AARON, to follow to a co-producer, who 

serves as colorist for AARON’s designs. Along 

with his own experience as an artist, five decades of 

working with a computational machine to produce 

art made Cohen especially qualified [38] to judge, 

whether an artificial intelligence can be considered 

an artist in its own right. Despite admitting the 

critical role AARON has played in his life as an 

artist, Cohen seemed [39] reluctant to grant his 

robotic partner the status of an artist to the extent 

that he disqualifies a number of [40] procedure 

aspect of artistry that can be modeled in computer 

code. Instead of talking about AARON as an 

individual artist, Cohen speaks about this 

collaboration in terms that highlight the personal 

nature of this human-machine relationship; 

Cohen characterizes the artistic potential of 

machines not in their intrinsic artistry but in their 

special collaborations with humans, as in his own 

relationship with AARON. [41] He considers the 

attempt to model human creativity on a computer a 

vain effort and throws a wet blanket on the 

possibility of machine made art.   

 

 

 

 

 

 

 

 

37.A. NO CHANGE 

B. his 

C. their 

D. our 

38.A. NO CHANGE 

B. to judge. Whether 

C. to judge; whether 

D. to judge whether 

39.A. NO CHANGE 

B. willing to grant 

C. impassioned about granting  

D. exuberant about granting 

40.A. NO CHANGE 

B. procedures aspect 

C. procedural aspects 

D. procedural aspect 

41. The author would like to express that Cohen does 

not believe that computers have free will and the 

ability to be creative.  

Which choice best conveys this? 

A. NO CHANGE 

B. The time will come when machines could 

make art independent of human agency and 

computers will be able to model human 

creativity. 

C. There is a possibility that art will be born of 

an autonomous machine and their creative 

ability is inevitable.  

D. He dislikes the word “creative” and considers 

robots’ attempts to model human creativity 

acts of aesthetic free will. 
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     Artist Leonel Moura, by comparison, is a newer 

recruit to the machine-human boundary. Moura 

began experimenting with artificial intelligence and 

robotic art in the late 1990s, and since the 2000s 

[42] produced mobile robots that make drawings 

based on color density.  These robots’ dynamic is 

collective rather than individual. Moura releases a 

[43] collection of them onto a plastic canvas, each 

armed with ink of a different color and a color 

sensor that helps its on-board software decide when 

to mark the PVC surface. The result is a 

multicolored drawing emerging from hundreds of 

such individual [44] strokes for Moura. Whether his 

art is made with or without machines is 

unimportant, so long as it is accepted by the art 

world’s gatekeepers.  

42.A. NO CHANGE 

B. produces 

C. is producing 

D. has produced 

43. The author wants to show that Moura’s artwork 

is a result of a group of robots.  Which word is 

most effective?   

A. NO CHANGE 

B. swarm  

C. company 

D. gathering 

44.A. NO CHANGE 

B. strokes, for Moura, whether 

C. strokes: for Moura, whether 

D. strokes. For Moura, whether 
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The following edited passage is an 

excerpt from Anna Karenina by Leo 

Tolstoy, a historical fiction novel based 

on Russian high society in the late-19th-

century. 

Happy families are all alike; every 

unhappy family is unhappy in its own 

way.  

Everything was in confusion in the 

Oblonskys’ house. The wife had 5 

discovered the husband’s deceit, and she 

had announced to her husband that she 

could not go on living in the same house 

with him. This position of affairs had 

now lasted three days, and not only the 10 

husband and wife themselves, but all the 

members of their family and household, 

were painfully conscious of it. Every 

person in the house felt that there was 

no sense in their living together, and 15 

that the stray people brought together by 

chance in any inn had more in common 

with one another than they, the members 

of the family and household of the 

Oblonskys. The wife did not leave her 20 

own room, the husband had not been at 

home for three days. The children ran 

wild all over the house; the English 

governess quarreled with the 

housekeeper, and wrote to a friend 25 

asking her to look out for a new 

situation for her; the man-cook had 

walked off the day before just at dinner 

time; the kitchen-maid, and the 

coachman had given warning.  30 

Three days after the quarrel, Prince 

Stepan Arkadyevitch Oblonsky—Stiva, 

as he was called in the fashionable 

world—woke up at his usual hour, that 

is, at eight o’clock in the morning, not 35 

in his wife’s bedroom, but on the 

leather-covered sofa in his study. He 

turned over his stout, well-cared-for 

person on the springy sofa, as though he 

would sink into a long sleep again; he 40 

vigorously embraced the pillow on the 

other side and buried his face in it; but 

all at once he jumped up, sat up on the 

sofa, and opened his eyes.  

“Yes, yes, how was it now?” he thought, 45 

going over his reverie. “Now, how was 

it? To be sure! Alabin was giving a 

dinner at Darmstadt; no, not Darmstadt, 

but something American. Yes, but then, 

Darmstadt was in America. Yes, Alabin 50 

was giving a dinner on glass tables, and 

the tables sang, Il mio tesoro—not Il 

mio tesoro though, but something better, 

and there were some sort of little 

decanters on the table, and they were 55 

women, too,” he remembered.  

Stepan Arkadyevitch’s eyes twinkled 

gaily, and he pondered with a smile. 

“Yes, it was nice, very nice. There was a 

great deal more that was delightful, only 60 

there’s no putting it into words, or even 

expressing it in one’s thoughts awake.” 

And noticing a gleam of light peeping in 

beside one of the serge curtains, he 

cheerfully dropped his feet over the 65 

edge of the sofa, and felt about with 

them for his slippers, a present on his 

last birthday, worked for him by his 

wife on gold-colored morocco. And, as 

he had done every day for the last nine 70 

years, he stretched out his hand, without 

getting up, towards the place where his 

dressing-gown always hung in his 

bedroom. And thereupon he suddenly 

remembered that he was not sleeping in 75 

his wife’s room, but in his study, and 

why: the smile vanished from his face, 

he knitted his brows.  

“Ah, ah, ah! Oo!...” he muttered, 

recalling everything that had happened. 80 

And again every detail of his quarrel 

with his wife was present to his 

imagination, all the hopelessness of his 

position, and worst of all, his own fault.  

“Yes, she won’t forgive me, and she 85 

can’t forgive me. And the most awful 

thing about it is that it’s all my fault—

all my fault, though I’m not to blame. 
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That’s the point of the whole situation,” 

he reflected. “Oh, oh, oh!” he kept 90 

repeating in despair, as he remembered 

the acutely painful sensations caused 

him by this quarrel.  

Most unpleasant of all was the first 

minute when, on coming, happy and 95 

good-humored, from the theater, with a 

huge pear in his hand for his wife, he 

had not found his wife in the drawing-

room, to his surprise had not found her 

in the study either, and saw her at last in 100 

her bedroom with the unlucky letter that 

revealed everything in her hand.  

She, his Dolly, forever fussing and 

worrying over household details, and 

limited in her ideas, as he considered, 105 

was sitting perfectly still with the letter 

in her hand, looking at him with an 

expression of horror, despair, and 

indignation.  

1. What tone does the main character 

set for the passage? 

A. cool calmness mixed with self-

deprecation 

B. hypocrisy mixed with 

resignation 

C. optimism mixed with naivety  

D. despair mixed with self-

absorption  

2. The dialogue in lines 45-56 is in 

reference to 

A. a dream. 

B. a past memory. 

C. an explanation. 

D. a description of past events. 

3. Which choice best provides 

evidence for the answer to the 

previous question? 

A. Lines 45-46 (“Yes … reverie.”) 

B. Lines 55-56 (“and … 

remembered.”) 

C. Lines 74-78 (“And … brows.”) 

D. Lines 79-80 (“Ah … 

happened.”) 

4. As used in line 27, “situation” most 

nearly means 

A. environment. 

B. setting. 

C. post. 

D. condition. 

5. What do lines 67-74 indicate about 

Stepan’s character? 

A. He’s a creature of habit. 

B. He’s forgetful. 

C. He’s self-indulged. 

D. He’s excessively spoiled. 

6. Which of the following best 

describes the organization of the 

passage? 

A. generalizations followed by 

specific instances 

B. specific instances followed by 

contradicting facts 

C. premise followed by supporting 

details 

D. hypothesis followed by a 

refutation 

7. On the basis of the passage, which 

of the following statements about 

Stepan can most reasonably be 

made? 

A. His regret is superficial. 

B. His love for his wife outweighs 

her love for him. 

C. He is unbothered by his deceitful 

acts.  

D. He is aware of the chaos within 

the household. 

8. Which choice best provides 

evidence for the answer to the 

previous question? 

A. Lines 20-22 (“The … days.”) 

B. Lines 63-69 (“And … 

morocco.”) 

C. Lines 85-88 (“Yes … blame.”) 

D. Lines 90-93 (“Oh … quarrel.”) 
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9. As used in line 30, “warning” most 

nearly means 

A. reprimand. 

B. premonition. 

C. information. 

D. notice for resignation. 

10. The author uses the term “unlucky” 

in line 101 to 

A. emphasize the lack of luck the 

letter has. 

B. identify the letter as a bad omen. 

C. highlight the trigger of the 

problem at hand. 

D. shift blame from Stepan to the 

letter. 
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The first edited passage is from The 

English Constitution by William 

Blackstone discussing the cabinet 

government. Passage 2,  taken from 

Commentaries on the Laws of English by 

Walter Bagehot, discusses the rights of 

Parliament.  

Passage 1 

Cabinet government is rare because its 

prerequisites are many. It requires the co-

existence of several national 

characteristics which are not often found 

together in the world, and which should 5 

be perceived more distinctly than they 

often are. It is fancied that the possession 

of a certain intelligence, and a few simple 

virtues, are the sole requisites. The 

mental and moral qualities are necessary, 10 

but much else is necessary also. A 

Cabinet government is the government of 

a committee selected by the legislature, 

and there are therefore a double set of 

conditions to it: first, those which are 15 

essential to all elective governments as 

such; and second, those which are 

requisite to this particular elective 

government. There are prerequisites for 

the genus, and additional ones for the 20 

species.  

The first prerequisite of elective 

government is the mutual confidence of 

the electors. We are so accustomed to 

submit to be ruled by elected Ministers, 25 

that we are apt to fancy all mankind 

would readily be so too. Knowledge and 

civilisation have at least made this 

progress, that we instinctively, without 

argument, almost without consciousness, 30 

allow a certain number of specified 

persons to choose our rulers for us. It 

seems to us the simplest thing in the 

world. But it is one of the gravest things.  

The peculiar marks of semi-barbarous 35 

people are diffused distrust and 

indiscriminate suspicion. People, in all 

but the most favoured times and places, 

are rooted to the places where they were 

born, think the thoughts of those places, 40 

can endure no other thoughts. The next 

parish even is suspected. Its inhabitants 

have different usages, almost 

imperceptibly different, but yet different; 

they speak a varying accent; they use a 45 

few peculiar words; tradition says that 

their faith is dubious. And if the next 

parish is a little suspected, the next 

county is much more suspected. Here is a 

definite beginning of new maxims, new 50 

thoughts, new ways: the immemorial 

boundary mark begins in feeling a strange 

world. And if the next county is dubious, 

a remote county is untrustworthy. 

"Vagrants come from thence," men know, 55 

and they know nothing else. The 

inhabitants of the north speak a dialect 

different from the dialect of the south: 

they have other laws, another aristocracy, 

another life. In ages when distant 60 

territories are blanks in the mind, when 

neighbourhood is a sentiment, when 

locality is a passion, concerted co-

operation between remote regions is 

impossible even on trivial matters. 65 

Neither would rely enough upon the good 

faith, good sense, and good judgment of 

the other. Neither could enough calculate 

on the other.  

 Passage 2 

We are next to treat of the rights and 70 

duties of persons, as they are members of 

society, and stand in various relations to 

each other. These relations are either 

public or private: and we will first 

consider those that are public. 75 

The most universal public relation, by 

which men are connected together, is that 

of government; namely, as governors and 

governed, or, in other words, as 

magistrates and people. Of magistrates 80 

also some are supreme, in whom the 

sovereign power of the state resides; 

others are subordinate, deriving all their 

authority from the supreme magistrate, 

accountable to him for their conduct, and 85 

acting in an inferior secondary sphere. 
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In all tyrannical governments the supreme 

magistracy, or the right both of making 

and of enforcing the laws, is vested in one 

and the same man, or one and the same 90 

body of men; and wherever these two 

powers are united together, there can be 

no public liberty. The magistrate may 

enact tyrannical laws, and execute them 

in a tyrannical manner, since he is 95 

possessed, in quality of dispenser of 

justice, with all the power which he as 

legislator thinks proper to give himself. 

But, where the legislative and executive 

authority are in distinct hands, the former 100 

will take care not to entrust the latter with 

so large a power, as may tend to the 

subversion of its own independence, and 

therewith of the liberty of the subject. 

With us therefore in England this 105 

supreme power is divided into two 

branches; the one legislative, to wit, the 

parliament, consisting of king, lords, and 

commons; the other executive, consisting 

of the king alone.  110 

11. In Passage 1, lines 37-41 indicate 

which of the following? 

A. People are bound to the culture 

and thoughts of their environment. 

B. People have the opportunity to 

break away from their society and 

re-build themselves. 

C. Some people tend to remain 

ignorant of other ideas and values.  

D. No one is able to endure the 

thoughts of their environment.  

12. Which of the following best 

summarizes Passage 2? 

A. Supreme magistrates hold the 

sovereign power of the states. 

B. A magistrate has limited power in 

government. 

C. Parliament is divided into two 

sectors to avoid unbalanced 

power. 

D. Among members of society, there 

exists both public and private 

affairs.  

13. The author in Passage 1 most likely 

uses quotations in line 55 to 

A. demonstrate the ignorance of the 

men of the community. 

B. emphasize the mindset of the 

members of the community. 

C. offer an excuse for the lack of 

trust in the community. 

D. excuse the ignorance among the 

men in the community. 

14. As used in line 25, “submit” most 

nearly means 

A. decide. 

B. offer. 

C. assert. 

D. give in. 

15. In Passage 1, the concept of mutual 

confidence of the electors towards the 

elective government is viewed as 

A. inevitable. 

B. necessary. 

C. detrimental. 

D. fundamental.  

16. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Line 34 (“But … things.”) 

B. Lines 35-37 (“The … suspicion.”) 

C. Lines 49-54 (“Here … 

untrustworthy.”) 

D. Lines 68-69 (“Neither … other.”) 

17. The writing style in Passage 1 differs 

from Passage 2. Passage 1 is 

A. anecdotal, whereas Passage 2 is 

experimental. 

B. narrated, whereas Passage 2 is a 

critique. 

C. critical, whereas Passage 2 is 

systematically informative. 

D. analytical, whereas Passage 2 is 

complementary to a primary 

source. 
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18. As used in line 96, “possessed” most 

nearly means 

A. in control. 

B. preoccupied. 

C. owned. 

D. enchanted. 

19. In Passage 2, the author would agree 

with which of the following 

statements? 

A. Politics is the bond between the 

people and its government at the 

level of the state. 

B. Tyranny is a pre-disposition found 

in all magistrates. 

C. England’s power is through the 

authority of the king. 

D. People are subordinate to the 

higher authority. 

20. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Lines 76-80 (“The … people.”) 

B. Lines 80-86 (“Of … sphere.”) 

C. Lines 93-98 (“The … himself.”) 

D. Lines 105-110 (“With … alone.”) 

21. Which point from Passage 2 would 

the author of Passage 1 disagree with? 

A. Government is a public relation, 

part of the people and for the 

people. 

B. There is an unwillingness to 

entrust large power to the 

executive authority for the 

possibility of the subjects’ 

oppression. 

C. Two powers, making and 

enforcing laws, in the hands of the 

same person limits public liberty. 

D. Subordinate magistrates are 

accountable for their actions and 

decisions made. 
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The following edited passage is taken 

from A Textbook of Assaying: For the 

Use of Those Connected with Mines by 

Cornelius Beringer and John Jacob 

Beringer on wet gravimetric methods. 

Zinc occurs in nature most commonly as 

sulphide (blende); it also occurs as 

carbonate (calamine) and silicate 

(smithsonite). Each of these is 

sufficiently abundant to be a source of the 5 

metal. The metal is known in commerce 

as "spelter" when in ingots, and as sheet 

zinc when rolled. It is chiefly used in the 

form of alloys with copper, which are 

known as brasses. It is also used in the 10 

form of a thin film, to protect iron goods 

from rusting—galvanised iron. 

Ores of zinc, more especially blende, are 

met with in most lead, copper, gold, and 

silver mines, in larger or small quantities 15 

scattered through the lodes. Those ores 

which generally come under the notice of 

the assayer are fairly rich in zinc; but 

alloys and metallurgical products contain 

it in very varying proportions. Zinc itself 20 

is readily soluble in dilute acids; any 

residue which is left after boiling with 

dilute hydrochloric or sulphuric acid 

consists simply of the impurities of the 

metal; this is generally lead. 25 

All zinc compounds are either soluble in, 

or are decomposed by, boiling with acids, 

the zinc going into solution. Zinc forms 

only one series of salts, and these are 

colourless. Their chief characteristic is 30 

solubility in an alkaline solution, from 

which sulphuretted hydrogen produces a 

white precipitate of zinc sulphide. Zinc is 

detected by dissolving the substance in 

hydrochloric or nitric acid, boiling, and 35 

adding sodic hydrate in excess, filtering, 

and adding ammonic sulphide to the 

filtrate. The precipitate contains the zinc, 

which can be dissolved out by boiling 

with dilute sulphuric acid, and detected 40 

by the formation of a white precipitate on 

the addition of potassic ferrocyanide. 

The dry assay of zinc can only be made 

indirectly, and is unsatisfactory. Zinc is 

volatile, and at the temperature of its 45 

reduction is a gas. It is impracticable to 

condense the vapour so as to weigh the 

metal, consequently its amount is 

determined by loss. The following 

method gives approximate results: Take 50 

10 grams of the dried and powdered ore 

and roast, first at a low temperature and 

afterwards at a higher one, with the help 

of carbonate of ammonia to decompose 

the sulphates formed; cool and weigh. 55 

The metals will be present as oxides. Mix 

with 2 grams of powdered charcoal and 

charge into a black-lead crucible heated 

to whiteness, cover loosely, and leave in 

the furnace for about a quarter of an hour. 60 

Uncover and calcine the residue, cool and 

weigh. The loss in weight multiplied by 

8.03 gives the percentage of zinc in the 

ore. 

Volumetric determination is based on the 65 

facts that zinc salts in an acid solution 

decompose potassium ferrocyanide, 

forming a white insoluble zinc 

compound; and that an excess of the 

ferrocyanide can be detected by the 70 

brown coloration it strikes with uranium 

acetate. The method resembles in its 

working the bichromate iron assay. The 

standard solution of potassium 

ferrocyanide is run into a hot 75 

hydrochloric acid solution of the zinc 

until a drop of the latter brought in 

contact with a drop of the indicator 

(uranium acetate) on a white plate strikes 

a brown colour. The quantity of zinc in 80 

the solution must be approximately 

known; run in a little less of the 

ferrocyanide than is expected will be 

necessary; test a drop or two of the assay, 

and then run in, one or two c.c. at a time, 85 

until the brown colour is obtained. Add 5 

c.c. of a standard zinc solution, equivalent 

in strength to the standard "ferrocyanide," 

re-titrate, and finish off cautiously. Of 

course 5 c.c. must be deducted from the 90 

reading on the burette. The precipitate of 

zinc ferrocyanide formed in the assay 
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solution is white; but if traces of iron are 

present, it becomes bluish. If the quantity 

of ferrocyanide required is known within 95 

a few c.c., the finishing point is exactly 

determined in the first titration without 

any addition of the standard zinc solution. 

Unfortunately this titration serves simply 

to replace the gravimetric determination, 100 

and does not, as many volumetric 

processes do, lessen the necessity for a 

complete separation of any other metals 

which are present. Most metals give 

precipitates with ferrocyanide of 105 

potassium in acid solutions. If the 

conditions are held to, the titration is a 

fairly good one, and differences in the 

results of an assay will be due to error in 

the separation. Ferric hydrate precipitated 110 

in a fairly strong solution of zinc will 

carry with it perceptible quantities of that 

metal. Similarly, large quantities of 

copper precipitated as sulphide by means 

of sulphuretted hydrogen will carry zinc 115 

with it, except under certain nicely drawn 

conditions. When much copper is present 

it is best separated in a nitric acid solution 

by electrolysis.  

22. The purpose of the first paragraph is 

to 

A. outline main ideas. 

B. present a hypothesis. 

C. provide a definition. 

D. introduce a critique. 

23. As used in line 1, “occurs” most 

nearly means 

A. takes place. 

B. exists.  

C. comes to mind. 

D. suggests itself.  

24. The author guides the reader through 

the workings of assaying zinc by 

A. defining the origin of zinc. 

B. providing information, whether 

necessary or unnecessary. 

C. giving a basic overview. 

D. providing an experimental 

example. 

25. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Lines 1-4 (“Zinc … 

(smithsonite).”) 

B. Lines 13-16 (“Ores … lodes.”) 

C. Lines 30-33 (“Their … 

sulphide.”) 

D. Lines 49-50 (“The … results:”) 

26. The author mentions all of the 

following EXCEPT: 

A. Zinc forms a colourless series of 

salts. 

B. Zinc is unpredictable. 

C. The precipitate of zinc 

ferrocyanide can either be white 

or blue depending on the presence 

of iron. 

D. The titration of zinc is more 

trustworthy than the gravimetric 

method. 

27. As used in line 46, “reduction” most 

nearly means 

A. diminution. 

B. expansion.  

C. demotion. 

D. discount.  

28. The transition from the first half of 

the passage to the second half starting 

at line 65 can best be described as 

A. generalization to supporting 

details. 

B. exposition to a specific method. 

C. argumentative to rhetorical. 

D. evidence-based to persuasive. 

29. Which of the following must be true 

for volumetric determination of zinc 

to take place? 

A. The amount of zinc used should 

be unascertained.  

B. An indicator must be present that 

turns brown when there is an 

excess of zinc. 

C. If excess iron is detected, the 

solution turns blue.  

D. Zinc salts do not decompose 

during titration.  
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30. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Lines 65-69 (“Volumetric … 

compound;”) 

B. Lines 73-80 (“The … colour.”) 

C. Lines 80-82 (“The … known;”) 

D. Lines 93-94 (“but … bluish.”) 

31. Which of the following most 

resembles the relationship between 

“the precipitate of zinc ferrocyanide” 

and “iron” (lines 91-94) as described 

in the passage? 

A. A car filled with unfiltered water 

results in a radiator blocked with 

limestone. 

B. Excessive rain in the desert results 

in flooding.  

C. A rock thrown in a lake results in 

ripples. 

D. Adding lemon to a main dish 

results in a sour tang.  
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The following edited passage is taken 

from Manual Of Egyptian Archaeology 

And Guide To The Study Of Antiquities 

In Egypt by Gaston Maspero on early 

private dwellings. 

The lower classes lived in mere huts 

which, though built of bricks, were no 

better than those of the present fellahin. 

At Karnak, in the Pharaonic town; at 

Kom Ombo, in the Roman town; and at 5 

Medinet Habû, in the Coptic town, the 

houses in the poorer quarters have seldom 

more than twelve or sixteen feet of 

frontage. They consist of a ground floor, 

with sometimes one or two living-rooms 10 

above. The middle-class folk, as 

shopkeepers, sub-officials, and foremen, 

were better housed. Their houses were 

brick-built and rather small, yet contained 

some half-dozen rooms communicating 15 

by means of doorways, which were 

usually arched over, and having vaulted 

roofs in some cases, and in others flat 

ones.  

Some few of the houses were two or three 20 

storeys high, and many were separated 

from the street by a narrow court, beyond 

which the rooms were ranged on either 

side of a long passage; and yet oftener the 

house fronted close upon the street. In the 25 

latter case the façade consisted of a high 

wall, whitewashed or painted, and 

surmounted by a cornice.  

Even in better houses the only 

ornamentation of their outer walls 30 

consisted in angular grooving, the 

grooves being surmounted by 

representations of two lotus flowers, each 

pair with the upper parts of the stalks in 

contact. The door was the only opening, 35 

save perhaps a few small windows 

pierced at irregular intervals. Even in 

unpretentious houses, the door was often 

made of stone. The doorposts projected 

slightly beyond the surface of the wall, 40 

and the lintel supported a painted or 

sculptured cornice. Having crossed the 

threshold, one passed successively 

through two dimly-lighted entrance 

chambers, the second of which opened 45 

into the central court. The best rooms in 

the houses of wealthier citizens were 

sometimes lighted through a square 

opening in the centre of a ceiling 

supported on wooden columns.  50 

Notwithstanding the prevalence of enteric 

disease and ophthalmia, the family 

crowded together into one or two rooms 

during the winter, and slept out on the 

roof under the shelter of mosquito nets in 55 

summer. On the roof also the women 

gossiped and cooked. The ground floor 

included both store-rooms, barns, and 

stables. Private granaries were generally 

in pairs, brick-built in the same long 60 

conical shape as the state granaries, and 

carefully plastered with mud inside and 

out. Neither did the people of a house 

forget to find or to make hiding places in 

the walls or floors of their home, where 65 

they could secrete their household 

treasures--such as nuggets of gold and 

silver, precious stones, and jewellery for 

men and women--from thieves and tax-

collectors alike. Wherever the upper 70 

floors still remain standing, they 

reproduce the ground-floor plan with 

scarcely any differences.  

The rooms were not left undecorated; the 

mud-plaster of the walls, generally in its 75 

native grey, although whitewashed in 

some cases, was painted with red or 

yellow, and ornamented with drawings of 

interior and exterior views of a house, 

and of household vessels and eatables.  80 

The roof was flat, and made probably, as 

at the present day, of closely laid rows of 

palm-branches covered with a coating of 

mud thick enough to withstand the effects 

of rain. Sometimes it was surmounted by 85 

only one or two of the usual Egyptian 

ventilators; but generally there was a 

small washhouse on the roof, and a little 

chamber for the slaves or guards to sleep 

in.  90 
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The mansions of the rich and great 

covered a large space of ground. They 

most frequently stood in the midst of a 

garden, or of an enclosed court planted 

with trees; and, like the commoner 95 

houses, they turned a blank front to the 

street, consisting of bare walls, 

battlemented like those of a fortress. 

Thus, home-life was strictly secluded, 

and the pleasure of seeing was sacrificed 100 

for the advantages of not being seen. The 

door was approached by a flight of two or 

three steps, or by a porch supported on 

columns and adorned with statues, which 

gave it a monumental appearance, and 105 

indicated the social importance of the 

family.  

If I would convey some idea of the 

residence of an Egyptian noble,--a 

residence half palace, half villa,--I cannot 110 

do better than reproduce two out of the 

many pictorial plans. The first represent a 

Theban house. The enclosure is square, 

and surrounded by an embattled wall. The 

main gate opens upon a road bordered 115 

with trees, which runs beside a canal, or 

perhaps an arm of the Nile. Low stone 

walls divide the garden into symmetrical 

compartments, like those which are seen 

to this day in the great gardens of 120 

Ekhmîm or Girgeh. In the centre is a 

large trellis supported on four rows of 

slender pillars. Four small ponds, two to 

the right and two to the left, are stocked 

with ducks and geese. Two nurseries, two 125 

summer-houses, and various avenues of 

sycamores, date-palms, and dôm-palms 

fill up the intermediate space; while at the 

end, facing the entrance, stands a small 

three-storied house surmounted by a 130 

painted cornice.  

 
Plan of a house from Eighteenth Dynasty 

tomb-painting. 

Source: Gaston Maspero 

 

32.  The passage is most likely written for 

A. first year anthropology university 

students. 

B. graduate architecture students. 

C. experienced historians. 

D. a middle school history class. 

33. According to the passage, who of the 

following would most likely live in a 

small yet better housing? 

A. a farmer 

B. a slave 

C. a governor 

D. a lower representative 

34. Which of the following was 

mentioned in the passage regarding 

the second floor? 

A. The second floor is always the 

roof. 

B. The second floor may collapse 

with bad weather. 

C. The second floor is a replica of 

the first. 

D. The second floor doesn’t exist. 
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35. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Lines 20-24 (“Some … passage;”) 

B. Lines 42-46 (“Having … court.”) 

C. Lines 56-57 (“On … cooked.”) 

D. Lines 70-73 (“Wherever … 

differences.”) 

36. As used in line 15, “communicating” 

most nearly means 

A. separating. 

B. transmitting.  

C. contacting. 

D. connecting. 

37. Which of the following best describes 

the structure of the passage? 

A. Organized, beginning from the 

home of the lowest class to the 

highest class. 

B. Organized, beginning with the 

homes of the lowest class to the 

upper-lower class. 

C. Disorganized, jumping from the 

homes of one class to the next 

unsystematically. 

D. Disorganized, beginning with the 

societal classes to different types 

of homes. 

38. Which of the following can be 

inferred about the Egyptian nobles 

based on their homes? 

A. They rarely experience conflict. 

B. They are isolated. 

C. They lack stability in their 

position. 

D. They are disliked by the lower 

class. 

39. Which choice best provides evidence 

for the answer to the previous 

question? 

A. Lines 85-90 (“Sometimes … in.”) 

B. Lines 91-92 (“The … ground.”) 

C. Lines 95-98 (“and … fortress.”) 

D. Lines 99-101 (“Thus … seen.”) 

40. Which of the following best describes 

the meaning of lines (63-70) “Neither 

… alike.”? 

A. The people failed to make places 

in their home to hide their 

treasures. 

B. The people would make the effort 

to create secret rooms or hiding 

places for their valuables. 

C. Thieves and tax collectors were 

aware of the placement of the 

valuables in the home. 

D. People would forget to find or 

make hiding places in the walls or 

floors of their homes. 

41. As used in line 116, “runs” most 

nearly means 

A. dashes. 

B. competes.  

C. extends. 

D. manages. 

42. The pictograph supports which of the 

following paragraphs in the passage? 

A. Paragraph 2 

B. Paragraph 4 

C. Paragraph 6 

D. Paragraph 7 
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The following edited passage is taken 

from On Laboratory Arts by Richard 

Threlfall on the creation of a focus tube. 

 

Although the glass-blowing involved in 

the making of a so-called focus tube is 

rather more difficult than in the case just 

described, there is no reason why such a 

difficulty should not be overcome; I will 5 

therefore explain how a focus tube may 

be made. 

A bulb about 3 inches in diameter is 

blown from a bit of tube of a little more 

than 1 inch diameter. Unless the walls 10 

of the tube are about one-eighth of an 

inch in thickness, this will involve a 

preliminary thickening up of the glass. 

This is not difficult if care be taken to 

avoid making the glass too hot. The 15 

larger gas jet described in connection 

with the soda-glass-blowing table must 

be employed. In blowing a bulb of this 

size it must not be forgotten that 

draughts exercise a very injurious 20 

influence by causing the glass to cool 

unequally; this leads to bulbs of 

irregular shape. 

In the method of construction, the anode 

is put in first. This anode simply 25 

consists of a square bit of platinum or 

platinum-iridium foil, measuring about 

0.75 inch by 1 inch, and riveted on to a 

bent aluminium wire stem. 

As soon as the anode is fused in, and 30 

while the glass is still hot, the side tube 

is put on. The whole of the anode end is 

then carefully annealed. When the 

annealing is finished the side tube is 

bent to serve as a handle when the time 35 

comes to mount the cathode. Before 

placing the cathode in position, and 

while the main tube is still wide open, 

the anode is adjusted by means of a tool 

thrust in through this open end. This is 40 

necessary in view of the fact that the 

platinum foil is occasionally bent during 

the operation of forcing the anode into 

the bulb. 

The cathode is a portion of a spherical 45 

surface of polished aluminium, a mode 

of preparing which will be given 

directly. The cathode having been 

placed inside the bulb, the wide glass 

tube is carefully drawn down and cut off 50 

at such a point that when the cathode is 

in position its centre of curvature will lie 

slightly in front of the anode plate. For 

instance, if the radius of curvature of the 

cathode be 1.5 inches, the centre of 55 

curvature may lie something like an 

eighth of an inch or less in front of the 

anode. 

The cathode is rather smaller than is 

advantageous. To make it much larger, 60 

however, the opening into the bulb 

would require to be considerably 

widened, and though this is not really a 

difficult operation, still it requires more 

practice than my readers are likely to 65 

have had. The difficulty is not so much 

in widening out the entry as in closing it 

down again neatly. 

Now as to making the anode. A disc of 

aluminium is cut from a sheet which 70 

must not be too thick — one twenty-

fifth of an inch is quite thick enough. 

This disc is bored at the centre to allow 

of the stem being riveted in position. 

The disc is then annealed in the Bunsen 75 

flame and the stem riveted on. 

The curvature is best got by striking 

between steel dies. Two bits of tool steel 

are softened and turned on the lathe, one 

convex and the other concave. The 80 

concave die has a small hole drilled up 

the centre to admit the stem. The desired 

radius of curvature is easily attained by 

cutting out templates from sheet zinc 

and using them to gauge the turning. 85 

The two dies are slightly ground 

together on the lathe with emery and oil 

and are then polished, or rather the 
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convex die is polished — the other one 

does not matter. The polishing is most 90 

easily done by using graded emery and 

oil and polishing with a rag.  

The aluminium disc is now struck 

between the dies by means of a hammer. 

If the radius of curvature is anything 95 

more than one inch and the disc not 

more than one inch in diameter the 

cathode can be struck at once from the 

flat as described. For very deep curves 

no doubt it will be better to make an 100 

intermediate pair of dies and to re-

anneal the aluminium after the first 

striking. 

When the tube is successfully prepared 

so far as the glassblowing goes it may 105 

be rinsed with strong pure alcohol both 

inside and out, and dried. The straight 

part of the side tube is then constricted 

ready for fusing off and the whole affair 

is placed on the vacuum pump. 110 

In spite of the great improvements made 

during recent years in the construction 

of so-called Geissler vacuum pumps — 

i.e. pumps in which a Torricellian 

vacuum is continually reproduced — I 115 

am of opinion that Sprengel pumps are, 

on the whole, more convenient for 

exhausting Crooke's tubes. A full 

discussion of the subject of vacuum 

pumps will be found in a work by Mr. 120 

G. S. Ram (The Incandescent Lamp and 

its Manufacture), published by the 

Electrician Publishing Company, and it 

is not my intention to deal with the 

matter here; the simplest kind of 125 

Sprengel pump will be found quite 

adequate for our purpose, provided that 

it is well made. 

 

Method of Construction 

Source: Richard Threlfall 

 

43. The primary purpose of the passage 

is to 

A. educate the reader on how to 

avoid creating faults when 

making a focus tube. 

B. introduce the reader to the 

different sixes of anodes and 

cathodes. 

C. explain how to use an anode. 

D. give examples on how to create 

a curvature. 

44. In lines 10-13 (“Unless … glass.”), 

the author uses evidence that  

A. supports the process of making a 

focus tube without error. 

B. supports the process of creating 

a bulb with irregular shapes. 

C. fails to support the difficult 

process of creating a bulb. 

D. fails to support the difficult 

process of creating irregular bulb 

shapes.  
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45. Which of the following is NOT 

mentioned in the passage? 

A. The anode is placed initially in 

the bulb. 

B. The convex die is more 

important in creating the 

curvature. 

C. The final step is to submerge the 

tube in a substance and carefully 

dry it over heat. 

D. Expertise is needed to widen the 

opening of the bulb. 

46. Which choice best provides 

evidence for the answer to the 

previous question? 

A. Lines 24-25 (“In … first.”) 

B. Lines 60-66 (“To … had.”) 

C. Lines 86-90 (“The … matter.”) 

D. Lines 104-107 (“When … 

dried.”) 

47. As used in line 77, “got” most 

nearly means 

A. collected. 

B. earned.  

C. understood. 

D. obtained.  

48. What is the relationship between the 

anode and the cathode? 

A. The anode doesn’t allow a larger 

cathode into the bulb. 

B. Without the anode, the cathode 

cannot be inserted.  

C. The cathode only works when 

placed in the centre of the anode. 

D. If the cathode is rather small, it 

will benefit the anode.  

49. Which choice best provides 

evidence for the answer to the 

previous question? 

A. Lines 24-25 (“In … first.”) 

B. Lines 33-36 (“When … 

cathode.”) 

C. Lines 48-53 (“The … plate.”) 

D. Lines 59-60 (“The … 

advantageous.”) 

50. As used in line 86, “ground” most 

nearly means 

A. prepared. 

B. established. 

C. rubbed. 

D. constructed.  

51. In the last paragraph, the author’s 

use of references to types of vacuum 

pumps and work by Mr. G. S. Ram 

A. weakens his argument for 

Spengel pumps. 

B. reduces value from his argument 

against the use of Crooke’s tube.  

C. supports his opinion on Sprengel 

pumps. 

D. contributes to his argument that 

new contributions have been 

made in the construction of 

Geissler vacuum pumps.  

52. The graphic supports which of the 

following steps? 

A. A glass tube is blown. 

B. An anode is carefully inserted.  

C. The curvature is created by two 

dies. 

D. The tube is placed in a vacuum 

pump. 
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EST I – Literacy Test I 

Answer Key  

(Writing Section) 
 

1. C 

2. B 

3. A 

4. C 

5. B 

6. A 

7. D 

8. C 

9. A 

10. B 

11. A 

12. C 

13. B 

14. A 

15. D 

16. A 

17. B 

18. A 

19. C 

20. D 

21. B 

22. A 

23. A 

24. D 

25. C 

26. B 

27. A 

28. D 

29. B 

30. C 

31. B 

32. A 

33. D 

34. A 

35. C 

36. C 

37. B 

38. D 

39. A 

40. C 

41. A 

42. D 

43. B 

44. D 

 



 

EST	I	–	Literacy	Test	II	

Answer	Key		

(Reading	Section)	
Passage 1 

1. D 
2. A 
3. A 
4. C 
5. A 
6. A 
7. A 
8. C 
9. D 
10. C 

Passage 2 

11. A 
12. C 
13. B 
14. D 
15. C 
16. A 
17. C 
18. A 
19. A 
20. A 
21. B 

Passage 3 

22. C 
23. B 
24. D 
25. D 
26. D 
27. A 
28. B 
29. B 
30. B 
31. A 

Passage 4 

32. A 
33. D 
34. C 
35. D 
36. D 
37. A 
38. B 
39. D 
40. B 
41. C 
42. D 

Passage 5 

43. A 
44. A 
45. C 
46. D 
47. D 
48. B 
49. B 
50. C 
51. C 
52. B 

 
 

 


